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1. Evaluate the followlng limils :
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g 2. BEvaluate the followlng integrals

2 1
i (i) )f.m-.fz—mrm= () (i) f{ fx 1+ — yax= (D)

- 3. Lew p and g be two real numbers, and lew fx) = &* i + g+ for all € IR,
If f{1) =4 is o local extremum of f,thenp= (B} ,g= ([

4. The length of the curve y = Incosz (0 <a = 1), s (G}

B 5. Lot f : IR?2 — IR be a function. Assume that J“ is differentinble at the point
(1,2) € R® with f(1,2) =0, f(1,2) =1 and f,{1,2) =43

0L (i} The equation of the tangent plane to the surface z = fla, y) at the polnt
(1,2,001s  (H)
I (i) If it = { -2 ?-}, then the direetional derivalive of f al (1, 2) in the
B :luracuun i iﬁ {1}
(ili) IFg(t) = fll =dran—' ¢, 3 =e*) for ¢ € IR, then g0} = . (J)
i 6. U ={(z,)eMmi:1<2<2,0<y=<1},then
- ff xeVdpdy = (K)
0 —
18|

| f{m}—3+f m for & >0,

and if g is the inverse of f, then f{z)= (L) ,and y'(3}= (M)
8. The interval of convergence of the power series 35w ﬁi,i (z—2%5s (M)
9. 1f f(z) = cos(z?), then [0D(0) = (O)
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flz) =
" 0 ifz=0.

Prove that f is differentinble on IR, and find ff{z). {10 %)
I1. Evaluate the value of the intogral :

o dx
25 J{; {2? + 1){z?* + 4} L)

I Let = {{z,1) : 2" +¢* £ + and z = 0}, Evaluate the double integral :
fj; sin~(z* + y*) dz dy (10 %)

IV. (i) If g{t) = £* = T —gin®{, prove that g(¢) < O forall t € IR. (5 %)
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{it) Usa {i) to evaluate the limit : {5 %)
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